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9.6   
 a. n=2 & l=1 → Angular node=1 & 2-1-1=0 Radial node 
 b. n=2 & l=0 → Angular node=0 & 2-0-1=1 Radial node 
 c. n=3  & l=2 → Angular node=2 & 3-2-1=0 Radial node 
 d. n=3& l=2 → Angular node=2 & 3-2-1=0 Radial node 
 

 
9.11 



 

0131
0

3
0

2

0

33
0

2

00

2

0

3
3

0

0 0

2

0

2/3
0

32/3
0

0 0

2

0

2
100

*
100

2
3

)2(
!344)sin)((

sin11

sin

1
0

1
0

1
0

1
0

a
a

adreradddrer
a

r

ddrdearear

ddrdrrr

rara

rara

===>=<

>=<

>=<

+−
−−

∞
−−

∞−

∞
−−−−

∞

−−

−−

∫∫∫∫

∫ ∫ ∫

∫ ∫ ∫

ππ

π π

π π

ϕθθ
π

ϕθθ
ππ

ϕθθψψ

 
9.17  



 



2
0141

0

3
02

2

0

1

1

3

141
00

2

0

2
141

0

2

0

2

0

22
141

00

2

0

22
141

0

2

0 0

2

0

2
100

222*
100

0 0

2

0

2
100

2*
100

2

1
0

2

00
1

0

0 0

2

0

2
100

*
100

0 0

2

0

2
100

*
100

2
0141

0

3
02

2

0

1

1

3

141
00

2

0

2
141

0

2

0

2

0

22
141

00

2

0

22
141

0

2

0 0

2

0

2
100

222*
100

0 0

2

0

2
100

2*
100

2

1
0

2

00
1

0

0 0

2

0

2
100

*
100

0 0

2

0

2
100

*
100

2
0

0

3

2
00

2
2

0

2

0 0

2

0

2
100

22*
100

0 0

2

0

2
100

2*
100

2

000
1

0

0 0

2

0

2
100

*
100

0 0

2

0

2
100

*
100

2/3
0100

3
4

)2(
!4

)
4
2sin

2
()

3
(

)2(
!4)12cos1(

2
1)1(

)2(
!4

sinsin)cos1(
)2(
!4sinsinsin

)2(
!4

sinsinsinsin

00
28

3sinsinsin
8

3

sinsinsinsin

3
4

)2(
!4

)
24

2sin()
3

(
)2(
!4)12(cos

2
1)1(

)2(
!4

cossin)cos1(
)2(
!4cossinsin

)2(
!4

sincossinsin

00
28

3cossinsin
8

3

sincossinsin

)
3

cos(
2

3sincos
2

3

sincossin

02sin
8

3sincos
4

3

sincossin

1 1
0

a
a

a
y

uu
a

dduu
a

y

dd
a

dd
a

y

ddrdrrddrdryy

a
dd

a
x

ddrdrrddrdryy

a
a

a
x

uu
a

dduu
a

x

dd
a

dd
a

x

ddrdrrddrdrxx

a
dd

a
x

ddrdrrddrdrxx

a
a

d
a

z

ddrdrrddrdrzz

a
d

a
z

ddrdrrddrdrzz

ea ra

=⋅⋅>=<

=−−=−−−>=<

−=>=<

=>=<

=⋅⋅=>=<

=>=<

=⋅⋅>=<

=+−=+−−>=<

−=>=<

=>=<

=⋅⋅=>=<

=>=<

=−=>=<

=>=<

==>=<

=>=<

=

+−

−

−

+−+−

+−+−

∞∞

−−

∞∞

+−

−

−

+−+−

+−+−

∞∞

−−

∞∞

−−

∞∞

−

∞∞

−−

∫ ∫

∫ ∫∫ ∫

∫ ∫ ∫∫ ∫ ∫

∫∫

∫ ∫ ∫∫ ∫ ∫

∫ ∫

∫ ∫∫ ∫

∫ ∫ ∫∫ ∫ ∫

∫∫

∫ ∫ ∫∫ ∫ ∫

∫

∫ ∫ ∫∫ ∫ ∫

∫

∫ ∫ ∫∫ ∫ ∫

−

π
π

ϕϕ
π

ϕϕ
π

ϕϕθθθ
π

ϕϕθθθ
π

ϕθθϕψθψϕθθψψ

π
π

ϕϕθθθ
π

ϕθθϕψθψϕθθψψ

π
π

ϕϕ
π

ϕϕ
π

ϕϕθθθ
π

ϕϕθθθ
π

ϕθθϕψθψϕθθψψ

π
π

ϕϕθθθ
π

ϕθθϕψθψϕθθψψ

θθθθ

ϕθθθψψϕθθψψ

θθθθ

ϕθθθψψϕθθψψ

π
ψ

ππ π

π ππ π

π ππ π

ππ

π ππ π

ππ π

π ππ π

π ππ π

ππ

π ππ π

ππ

π ππ π

ππ

π ππ π



 
<x>=<y>=<z> = 0 &  <x2>=<y2>=<z2> = a0

2 


